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Do we say, the same one that entered is the same one that left

OVERVIEW

X217 posed a query in a case where a mouse entered a house with a loaf in his mouth
and a mouse was subsequently seen exiting the house with a loaf in his mouth. Are
we to assume that it is the same (mouse and) loaf or not. md0n argues that this
query is valid even according to 3"2w" who generally maintains that we do not
assume that what is found is what was lost."
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And even according to »''2w9 who maintains that ‘the entire field must be

searched’; seemingly here too he would maintain that the house must be searched to ascertain
there is no y»r, despite the fact that we see a mouse exiting with a 7122. Nevertheless it is not so;
there is a difference between this case and a 12p 172 7aRY 77w, for -
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Here there is an indication that it is the same mouse, for the exiting mouse is

together with the loaf.* However by a 72p 712 728w 77w there is no indication that the 12p we
found should be the 22> that was lost.

SUMMARY
The X°vy2°X of X271 is valid even according to 1"2w", for in this case he can entertain
the idea that 121 S¥7 °X77 13773, since there is 7275 2¥9a.

THINKING IT OVER

The main 1ssue seems to be whether it is the same loaf; not whether it 1s the same
mouse. Why therefore does mpoin say that here there is 1272 0°931 since v R
125732 mpoIn should have said there is 1277 2993 that it is the same loaf since 77
720¥7 oy X!

! See the following (complementary) % 71"7 Mo where Moo discusses whether the other side of the query is valid
according to "2 (who argues with 3"2w).

? See previous *197 7"7 MO

? See “Thinking it over’.

* It would be highly improbable that a different mouse and a different loaf exited after a previous mouse entered
with a loaf. It is most likely that it is the same mouse and loaf.
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